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- of each is atmospheric, and the flow is incompressible. The

) - A . . contents of each device is not known. When released, which
5.42 The four deylces shown melg- P5.. _ reston friction- devices will move to the right and which to the left? Explain.
less wheels, are restricted to move in the x direction only and

are initially held stationary. The pressure at the inlets and outlets ( /) R -‘;__:ll
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will be to the lef?. If F is
/n a divection opposite 1o that Shown, the wmohor ,s
Fight - Lf F, =0, There /s no horigontal mokon .
For sketch (a)
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Since Fﬂ' is fo the [eft , motion ;s fo The nﬂ/n‘.

Fo. Jke/zk(b)
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and fron conservatio, lafc mass
PY.A =P 4,
and Swice W, thesn A i To The left ano ma%én;}ﬁﬂ!fj#
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and [, is +v the lef+ so mobion /s 1o the r;j:bL_

For sketct (d)
“hel A+ v pla, =4
and fromm  conseryation of macss
P8 = PV, A,
and V, < v,

SO Fy is %o 1R right and potion s Yo the Jett
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